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1. 39 9T 95 H 30 92T g | F{T 7eeT 3foiard g
2. I UReA 99 979 Wl H [QHAToId ¢ | @S -1, &, &Y, 31 3§
3.WSU-WeTH&AT 1 ¢ 17 O SEIHeNT TR & ¥, Tl yeeT 1 37 FT &
4. @3 &1- 49T TEAT 18 31} 19 T 3MeTRA &, Tcdeh 3 37 I ¢ |
%_g?g?ﬁmamzo ¥ 23 Y 3T 8, Tcdeh 3 37eh 1 g | FeTehl 3cX 80 & 100 2rear 7
I
%%%%mm =T 24 T 28 &Y AT &, Tcdh 5 37k T & | STl 3aX 120 & 150 Asci H
I
7. @3 3-9%T FE&AT 29 3R 30 AT TR § | 37 9T &l g1 et & 916 Fog AT
SIYRETH A TS |
General Instructions:
1. This question paper contains 30 questions. All questions are compulsory.
2. This question paper is divided into five sections. Sections-A, B, C, D and E.
3. Section A - Question number 1 to 17 are Multiple Choice type questions carrying 1 mark
each.
4. Section B- Question number 18 and 19 are Source based questions carrying 3 marks
each.
5. Section C- Question number 20 to 23 are Short Answer type questions carrying 3 marks
each. Answer to these questions shall be written in 80 to 100 words.
6. Section D Question number 24 to 28 are Long Answer type questions carrying 5 marks
each. Answer to these questions shall be written in 120 to 150 words.
7. Section E Question number 29 and 30 are Map based questions. Attach the maps with
your answer book after solving it.

ds- 31 /SECTION- A
Q Questions M
T |TAFAT@d H 4 ohied-dT 3T&TRMNY TaXdR AR o ATHT IaEdReh Tell JIA191h o | | 1
(a) 8°41'N - 35°7'N (b) 8°4'N - 37°6'N
(c) 8°4'N - 35°6'N (d) 10°6'N - 37°6'N
Which one of the following latitudinal extent is relevant for the extent of
India’s area?
(a) 8°41'N - 35°7'N (b) 8°4'N - 37°6'N
(c) 8°4'N - 35°6'N (d) 10°6'N - 37°6'N
2 |Ted&aTelTdd H H oplel HI IH dTIHSeT bl HHIY AT Sl &7 1
WEIEGIES) (&) AT
(@) 3T (3T) I SBIHTFATSS
Which one of the following gases constitutes the major portion of the
atmosphere?
(a) Oxygen (b) Nitrogen
(c) Argon (d) Carbon dioxide
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3 | d1¢ g Secls ATl U ofd ST fT JeTel ToTH TdHY ahel SiTdl &, TohdH -3TThIdeh
R GART el g2

a) EL GG
c) qa'r%aaﬂ GG
In Flood plain and Delta region, Loop like Channel which is termed as
MEANDER is formed by which geomorphic agents
a) Waves b) Underground water
¢) Running water d) Glaciers

4 |TAFATATEd I TR Y IR TGV 3TV IS &hl TN H Hel 3 Jod-
Consider the following and choose the correct answer with the help of given

codes-
Theory/THcETd Propounded by/THCHTA & Yddeh
. gagd ORT HeeTd U
Conventional Current Theory Harry Hess
i AGICAIITT Ydlg TacHTd 2. AT gl&T
Continental drift Theory Arthur Holmes
iii. TolC TdddTelchl 3 .3Tehs daleiX
Plate tectonics Alfred Wagner
iv. g del T THR 4. Hoholl, AT, GTch{
Sea floor Spreading Mackenzie ,Morgan, Parker
Options:
I Il 1] \Y;
A. 1 2 3 4
B. 2 3 4 1
C. 4 3 2 1
D. 2 1 3 4

gl al Yol I ATHAD YT (T) IR PRUT (IRX) & ®9 H TIEAd AT I AT g | AT

5 | faT T HIS & IR 39T 3o} FAfETa i)

%@?ﬁﬂﬂ Wﬁﬂa%lTH%ﬂTaﬁcQILul shdol hRUT-IAR-THTT TTUT o S H LT
I

HROT: FHROT-3-THTT G o shdel d2T T SIREAT HId § dioh a2zl

aﬁwﬁmﬁﬁ?ﬁﬂﬁwﬁa@ﬁﬁmaﬁwﬁgl

A. (U)sﬂ'\r(smr gl T & JfeheT (37R) (T) waé’rw@wwaﬁ%
B. (T) 3R (31R) a’l?l’rﬂ—zr%*aﬂT(W) (T) ST TEY TISEHIIT &
C( T) 31T (31R) ST ITei T & |

a%‘r%aﬁrrr(m)w%ﬂ

There are two statements marked as Assertion (A) and Reason(R).Mark
your answer as per the codes provided below.

Assertion: The geographer interprets the facts only in the framework of
cause-and-effect relationships.

Reason: Cause-and-effect relationships not only explain the facts but also
have the ability to predict the facts and see them in the future.

Options:

A. Both (A) and (R) are true but (R) is not the correct explanation of(A)
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B. Both (A) and (R) are true and (R) is the correct explanation of (A)
C. Both (A) and (R) are incorrect.
D. (A) is correct but (R) is incorrect.
6 [ Which one of the following Is not related to the formation or modification of
the present atmosphere?
(a) Solar winds (b) Differentiation
(c) Degassing (d) Photosynthesis
ﬁmﬁ@aﬁﬁﬁamaﬁmﬁw%ﬁmmmﬁmﬁwwﬁ?
(T) G gare CNCE GG
(&) e (é’r) JhTl HRATOT
WHHFWHTEQTWQ?HTHWWFW-WH@TWE?
7| (a)FiTeeer (B)dTfrEdTeT
(C)ireT (D)HITAR
Which one of the following countries shares the longest land frontier with
India?
(a)Bangladesh (B)Pakistan
(C)China (D)Myanmar
8 |TAFATAId & 4 1ohd UgIst FWell IR ‘SIslecl dicl 1¥dd &2
(Q) AR ggrisar CHEGIEEIRRIER
GUEGIEEGCIERRIERI (3T AcATHTT GgITSAT
On which of the following hill range is the ‘Dodabeta’ peak situated?
(a) Nilgiri hills (b) Cardamom hills
(c) Anaimalai hills (d) Nallamala hills
9 |[EJeldY TdohlH ohl ThdH 34T:IT21TH31'€4|H<9| held ol YHATAT 8T g 7
a) douT 3aET b)a e dteraeer
c) 3ifas dieraer d) EILEETFH'\E?JT
In which of the following stages of landforms development downward cutting
is dominated?
a) Youth Stage b) Early Mature Stage
c) Late Mature Stage d) Old Stage
10 | T&T &l AT ohl THD A (T) IR hRUT (IRX) o 9 H TIEAd ThIT AT & | dATd
fT aTT 15 & ITAR 39T 3R RARAT Y
3T T2t i T ReR &
0T awa:amfraﬁﬁqwra:aﬁgamsﬁqaﬁ%agwwaﬁr%
A (T )34‘1?(31? gl T § feheT (3TR) (T) a:rm?rq:crwa?r%
B. (T) 3R (31R) aﬁa’rw%aﬂt(m ) ST TET TISEIOT &
C. (T) 3R (3TR) &l ITelcT 8|
D. (V) T&r & aifeheT (3TR) el B
There are two statements marked as Assertion (A) and Reason(R).Mark
your answer as per the codes provided below.
Assertion: The structure of the Earth is layered.
Reason: The substance from the outer edge of the atmosphere to the Earth's
core is not uniform.
Options:
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A. Both (A) and (R) are true but (R) is not the correct explanation of(A)
B. Both (A) and (R) are true and (R) is the correct explanation of (A)
C. Both (A) and (R) are incorrect.
D. (A) is correct but (R) is incorrect.
11 Hol™g b TelU HgcaYUI digHSITT Ud 8. 0
(T) GAATIHAS ST (T AETHS
(& enHAST (37) ITTHSA
Atmospheric layer important for human beings is:
(a) Stratosphere (b) Mesosphere
(c) Troposphere (d) lonosphere
12 | TAFATITEd HAlTcdeh THATIT/3T TIHTIT ohl 3 T G 18197 161 H cIATEAd
Arrange the following physiographical division/sub division in north to south
direction :
a). 1. SHISATATS UIIGATT 2. HihuT3. ATATER
b). . 1. ATAER 2. HITSATATS YIAGATI3. ShichoT
c). 1. SIRUT2. ATTER3. HITSATATS JrIGAT
d). 1. SHIHUT2. HITSITATS IIGATT 3. HATATER
a). 1. Kathiawar Peninsula 2. Konkar 3. Malabar
b). 1. Malabar 2. Kathiawar Peninsula 3. Konkar
C). 1. Konkar 2. Malabar 3.
Kathiawar Peninsula
d). 1. Konakar 2. Kathiawar Peninsula 3.
Malabar
13 | TAFATATEd H H hloT I ST HAJ UICT A dgdl g7
(T) AT (&) STHer
(T) FH=AT (31) AT
Which one of the following rivers flows in a rift valley?
(a) The Son (b) The Narmada
(c) The Yamuna (d) The Luni
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14 | TAFATATE T H ¥ hleT IT 3Helchadl T ATINIAT bl HITH Tl g7

(T) faso7 wramr (a) T IATIT

(TY) SHTOT gITIT (3) &g greT

Which one of the following is the place of confluence of the Alaknanda and
the Bhagirathi?

(a) Vishnu Prayag (b) Rudra Prayag
(c) Karan Prayag (d) Deva Prayag

[edeT IRY I Ggeh{ [dFaA el d IRAN(H.H. 15, 16 Td 17) oh 3d¥ ¢ | Read the
following graph and answer question no 15 to 17.

Lithosphere
(crust and upper
most solid mantle)

6,378 km
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fe3e:4

Lithosphere is consists of -
a) Upper most mantle and Core
c) Core and Crust

6,378 km
15 | 92T &l [3odT &-
%%900 fopaT dT) 6387 fopaAT ) 6378 ToreY 3 5100
The radius of earth is-
a) 2900 Km b) 6387 Km c) 6378 Km d) 5100 Km
16 | EUTHSC TonHH THeTehI Soll & - ’
a) W HAed 3R PR/PIZ b) forerer HAed 3R FR/FIT
c) PI/HIS 3R e d)Fadr FAeot 3R wee

b) Lower mantle and Core
d) Upper most mantle and

these

Crust
17 | TETATTHhIIR T€dd o-
a) 39 Heel b) 3U shET c) for=rer Fea d)saq &
IS TgT
Asthenosphere lies in-
a) Upper Mantle b) Upper Crust c) Lower Mantle d) None of

3FAIGART & ToT & |

Q. No. 15,16 &17.
15. gt 1 F3am 8-
T) 2900 foraY

5100 feraT

&) 6387 e

T JEAT 15,16 AR 17 & TUTed G TAFA AT U0 ehd el lecdTdd

The following questions are for Visually Impaired Candidates only in lieu of

o) 6378 fopaT a)
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What is radius of earth

a) 2900 Km b) 6387 Km c) 6378 Km d) 5100 Km

16.TTIHSH fhad Ao saT § -

a) 39 3 Hedl AR PR b) forerelr Feer 3 R
c) PR AR HEe d)Z9T Heo 3R e

Lithosphere is consists of -

a) Upper most mantle and Core b) Lower mantle and Core c¢) Core and
Crust

d) Upper most mantle and Crust

17 . TEAATHRIT 8T §-

a) 39 Aol b) 3URT hET c) fa=rer Fea NEGEE:
IS oTET

Asthenosphere lies in

a) Upper Mantle b) Upper Crust c) Lower Mantle d) None
of these

W3- TlId IATITRd /Section- B Source Based Question

18

[GT T ICIARN T EITTYdeh UG X 3Hh §1G 3Tl dlel IRedl &b 3a{ G-
PIeeT Wmmﬁwwmawm%mwm
m@raﬁﬁﬁr{wa:%mm%ﬁ%aﬁmaﬁmﬁmﬁqﬁﬁaﬁﬁwwés%@
3IREelt &1 g arfda fAfaor sl 3raeisd Xar § 3R 38& Ho 19T H a9d
g2l T g 1 3 Rrafdd X a7 ¥ Ig Ml gI38 THT & ToIT HIT &€ e

g1 317 T T AT fER ¢ Afa e ss3iteass & Anr Ao
SO aUhl A FALT T F SARA $U & STolad & HROT 96 6T ¢ FH &aT &l
JTIATT ¢ §¢ 9T B 3MSileT ArGHAS I Teh 3T Hgedqul TCeh g, St gy
Hag ¥ 10 ¥ 50 e Fu arar oirelr § 31 Uk fbeed & w9 #F & st & 3R
I A fAhelel arell I ROt &1 e oem & 3R 3+¢ g2 &1 ace
I UgdeY & JAehaT &
m%ﬁmwﬁﬁmeWﬁﬁm%mmﬁ%W

o
18.2 ShIeleT STS3TFHISS HIHH [a=TeT T TS A Teh 3T Hgea ol 319 1 g2
18.3 A §I3H YHIT FAT 872
Read the given passage carefully and answer the questions that follow:-
Carbon dioxide is meteorologically a very important gas as it is transparent
to the incoming solar radiation but opaque to the outgoing terrestrial
radiation. It absorbs a part of terrestrial radiation and reflects back some part
of it towards the earth’s surface. It is largely responsible for the green house
effect. The volume of other gases is constant but the volume of carbon
dioxide has been rising in the past few decades mainly because of the
burning of fossil fuels. This has also increased the temperature of the air.
Ozone is another important component of the atmosphere found between 10
and 50 km above the earth’s surface and acts as a filter and absorbs the
ultra-violet rays radiating from the sun and prevents them from reaching the
surface of the earth.
18.1Which gas is responsible to absorbs ultra-violet rays radiating from the
sun?
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18.2 Why is Carbon dioxide meteorologically a very important gas?
18.3What is Green house Effect?

19 | a1 915 BId oAl A dellched Y A TAFATATE T AR%AT & 37X © 3
Observe the given |mage and answer the foIIowmg questlons

SR N O R e

191 =T A %cr .

19.2 Bfd H fe

19.35fa# ﬁ'.'(f

19.1 Indentify the phyS|ograph|c division which is given in plcture

19.2 ldentify the type of sand dunes shown in the image.

19.3 State any one geographical features of given physiographic division in

image.

9eeT AT 19.1,19.2 3R 19.3% TU W [AFATATET U shaol giecariaa

3FAIGART & faT g ‘ .

%gm%mqwmwmﬁ@aﬁamqﬁﬁﬁwmmw
|

19.2 ¥d & el & IAYHR T TGS @ & 3T T Y ewa ¥ |

19.3 3 TR T TR HR o ifcreh TaHTeT T hiS Ueh silanioren

ERLGICGIEY

The following questions are for Visually Impaired Candidates only in lieu of

Q. No. 19.1,19.2 &19.3.

19.1 Name the physiographic division which has very sparse vegetation.

19.2 Name the type of sand dunes which is similar to crescent in shape.

19.3 State any one geographical features of appropriate physiographic

division asked in the above questions.

Ygs-d (3T ) /  Section C (Short Answer Types)

20 ?a%?r%wr$mnmﬂamm$mmﬂwgl 3o URAT YT HEIY | 3
|

3dar
HTeh 83Tl shr TafeeT @3 (h1S It ATEIT) hr H&ET H == H|
Geography as a discipline is concerned with three sets of questions.
Discuss those questions in brief.
Or
Discuss the different branches of physical geography in brief.(any three
branch)

21 | AY9&TY Asc bl YRATIN b | ITIETT bl FIT Hgcd o 7 142
Define the term weathering. What are significances of weathering?
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22

TQIRTAT I 9T I HcTeT & o A IdTS | (IS dleT) 3
Differentiate between the Western and eastern coastal plain(any three)

23

T GGHUT & 1S el JoE HIROT GETd A T 1@ ] 3

3ar
%WW“ I IRATNT Y| gl T 39aTg 9fawy &1 [aEdr & quie
I
Write any three major causes of river pollution in brief.
or
Define the drainage pattern. Elaborate any two drainage pattern.

¢ (QE3ddT) / Section-D (Long Answer Types)

24

HAgledraig Jdig 1AcHId o GHA H &1 163 g 2(his Jid)
37Yar
Telc FAT g2 Tole HIATY fohdlel Wb T &It £2 TATdR & 914 |

What are the evidences in support of continental drift theory?( any five)

Or
What is plate? What are the different types of plate boundaries? Elaborate in
brief.

25

JdTTed STel H Selol dlef Tehogl UTH TUEoATcHh AT T1&TYUTcHeh ETET U I
|

Discuss any major five erosion or depositional land forms, formed by the
running water.

26

T 3TTTehT AT & 31151 o T Teich JaT & lTcieh ST/l 6HR dsial g &
3o 3T et & ST &7 3o7 3GTELVIT T aaTST, Toleleh GanT §Ha fhd T
TAHATT JIT H AR & T oot # afifcies amemsit o) fasrr area 81

Do you " think that physical barrier is a hindrance in interaction with our
neighbouring countries in modern times? Give some examples how we have
overcome these difficulties in the present day in special reference to India.

27

HAT b AT AlTdh TIATIN ol JT d1TT0 AN A b Tehd[ Teh AlTdh TdATIT H
SEl FgcaquT #lanforen CREGIRIEA) faEqd SR €|

List all the physiographic divisions of India and elaborate important
geographical features are associated with anyone of the physical region of
the India.

28

HIeT STToTC 319 TeHTeIY hl cTolec] H gRGAR O [Held[ST doh 1T o 36 8
mmﬁsﬂﬁraﬁrﬂg—dﬂv‘raﬁﬁr%mwl 399 & frely U 1Ay
faIyart sarsd|

Suppose you are travelling from Haridwar to Siliguri along the foothills of the
Himalayas. Name the important rivers you will come across. Describe the
characteristics of any one of them.

gs-g (Aad JArdiRd ) /  Section—E  (Map based Questions)

29

1?1*%3$a-||o1|w| X JCIRTd ol&T10Tl ohl Ygdlel Ud 3olehl ATH T1d | (1hoal dId )
A) T FgledIq
)Wméﬁmw
C) e & Had 95T AZMARR
D) Uk AGMARRIY hieh
E) 33T ety 7 Teh AGRATER
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F) Teh SICT C&Clledeh Teolc
G) &feroft aemeT 7 Ter AZER
Identify the already shown features over the World Map and Name it.(any
five)
a) A Continent
b) A Major Tectonic Plate
c) Largest Ocean of world
d) An Oceanic Ridge
e) An Ocean in Northern Hemisphere
f) A Minor Tectonic Plate
g) An ocean in Southern Hemisphere
g9eT HEIAT 29 & FTATA W [AFATA @ U2t dhaer Tiecarfia sreafdat & faw
g IFafaf@a & & fhegl uta weat & 3R QI ST:
$) 3 Ml H Teh Agledd, Had 8T
sT) 3T AT F Teh YA el foeh wolT
c) [aea & G =T AGTEIR
d) Teh AGTHNRIY sheeh, TaH oldl
) AR IMeITeT H Teh AGERR
) GI&IUT AR & ITH Teh BIET eoclfeleh Tole
o) ge¥ &f&T0T A Siayofl aee 7 Ush HgrmR
The following questions are for Visually Impaired Candidates only in lieu of
Q. No. 29.
Answer any five questions out of the following :
a) A Continentin Northern Hemisphere, largest one
b) A Major Tectonic Plate in Northern Hemisphere
c) Largest Ocean of world
d) An Oceanic Ridge, the longest one
e) An Ocean in Northern Hemisphere
f) A Minor Tectonic Plate near South America
g) An ocean in Southern Hemisphere in Far South

30

TAdT Bl AT & JLTHTATIT YT RS |(Teheal UTd)
a) SIT#HdT §kaT Jdd arer
b) 3RTdell T
c) PRIASH dc
d) AT dC
e) 3TSHT U4 TR edid JHg
g) &Fehel T YO
h) $IRCT ol HET A T STaToTH fdeg
Show the following items on out lined map of India.(Any Five)
a) Namcha Barwa Peak
b) Arawali Range
c) Coromandal Coast
d) Malabar Coast
e) Andman & Nicobar Islands
f) Deccan Plateau
g) Southern Most Point of main Land of India
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IR HEIT 30 o TUTed G TAFATATE T R shd el TIECTId FITIAT o Telv
g 1fae fofea eat & 39T & |( 1S Ti=):

a) T&ATeT 9 T gad gdt arer

b) $TRel &Y T RIeAY afeled Tt Hll

M) e afeyor ¥ 4 are & @ adia e

o) GeJ &80T & TR T1e & Y TET At

e) SIaTIel Y WISt & Ueh &did HAg

) Teh YR HBRISE 3R deiemar H Baa g

o) W T ALY A F T cfarol fog 1 A1 JAsv

The following questions are for Visually Impaired Candidates only in lieu of
Q. No. 30.Give answer to any five question asked below:

a) Eastern Most Peak of Himalaya Mountain

b) The oldest folded Mountain range in India

c) Coastal Plain along with Eastern Ghat in Far South

d) Coastal Plain along with Western Ghat in Far South

e) An Island Group in Bay Of Bengal

f)A plateau lies in Maharashtra and Telangana

g) Name the Southern Most Point of main Land of India
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For question no. 30

WA T FE-aERE (TsriE)
Outline Map of India (Political)
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